Goteborgs BF
Fyrmanna, tisdagtid, match 1:1 2016-09-13

IMP over faltet, 4 bord, 8 par. Antal brickor: 12.

Plac Par Poéng Namn MID
1 1 1.50 Solve Helin - Lars Seligman 49357 55618
2 301 1.42 Folke Grauers - Dan Werdelin 57805 48410
3 302 0.56 Yvonne Falk - Rut Hillensjo 44319 57830
4 2 0.47 Claes Bihler - Thomas Aimén 14621 59547
5 202 -0.47 Hans Setterborg - Hans Fredling 47674 48787
6 102 -0.56 Rodny Carlsson - Bengt Cederberg 57784 59980
7 101 -1.42 Margreth Johansson - Lisbeth Ohlsson 33864 58415
8 201 -1.50 Ingrid Rosander - Birgitta Almersjo 54236 27828
1 4 Kn1094 Basta kontrakt 2 4 Kn1093 Basta kontrakt 3 442 Basta kontrakt
Nord v- INTN =90 Ost v EDKn7 34 S =140 Syd v DKn7 2NT S =120
Ingen + D1062 NS + EK106 ov + Kn108742
#KD1062 & ¢ v & NT *2 & ¢ v & NT »E7 & ¢ v & NT
4 K62 4« ED5 N7 7577 « D87 & K52 N8 9 89 8 41053 & EK87 N8 9578
vDKn98 v 7652 S77577 v 864 v K532 S7 98938 v 95432 vE1086 S8957 8
¢ 543 ¢ EKKn 055756 ¢ Kn97 ¢+ D84 054545 493 ¢ KD 054865
#Kn83 4975 V65756 #Kn1096 #EK4 V54545 #K32  &Knb4 V547675
4873 ~E64 « DKn96
v EK1043 v 109 vK
4987 +532 + E65
*E4 «D8753 #D10986
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
1201 2v0-3 &A 150 6.0 -6.0 2 202 24 N+1 &A 140 10.0 -10.0 1 201 INO-2 &T 200 9.0 -9.0
102 302 24 N= ¢A 110 1.0 -1.0 1 201 2¢ N= &K 90 3.0 -3.0(101 301 34 S-= +9 110 -3.0 3.0
101 301 2vDO-1 #A 100 0.0 00102 302 2¢ N= #A 90 3.0 -30 2 202 INO-1 %6 100 -3.0 3.0
2 202 2v0-1 #A 50 7.0 7.0(101 301 1v O= &3 -80 -16.0 16.0(102 302 3v V-1 #A 100 -3.0 3.0
4 109 Bésta kontrakt 5 4 D32 Bésta kontrakt 6 473 Bésta kontrakt
Vast v K9 34 V =-140 Nord vKD1032 54 O D-1100 Ost v EK52 6y S =980
Alla + E96 NS + 9864 ov + EK105
#E76542 & ¢ v & NT *7 & ¢ v & NT *EK4 & ¢ v & NT
4KD64 4 EKn73 N76545 4Kn654 &7 N1 3 109 3 4D952 4 EKn6 N 108 121011
vE8 vD10743 S7 6545 v94 v Kn6 S 1 3 109 3 v98 v 104 S 108 121011
¢Kn742 ¢ D3 06 6 89 8 + D10 ¢ EK532 O 109 2 3 3 ¢ D9874 ¢ Kn32 035132
#DKn8 #K10 V668938 #K10532 #EKn984 V 109 2 3 3 »75 #109632 V35132
& 852 » EK1098 4 K1084
v Kn652 vE875 vDKn763
+ K1085 ¢ Kn7 +6
#93 »D6 #DKn8
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr Ut Res Poang
1 201 44 V-2 &A 200 3.0 -30 1 201 24 0+3 4A -150 9.0 -9.0 2 202 6vy N= &T 980 22.0 -22.0
2 202 44 V-2 &A 200 3.0 -30 2 202 3+ 0+2 #A -150 9.0 -9.0|102 302 6y N= A 980 22.0 -22.0
102 302 3NV-2 #4 200 3.0 -30(101 301 24 O+3 4A -150 9.0 -9.0 1 201 4v S+2 &7 480 -21.0 21.0
101 301 44 V-1 +A 100 9.0 9.0(102 302 54DO= 4K -550 -27.0 27.0(101 301 4v N+1 &T 450 -23.0 23.0
7 & K98 Basta kontrakt 8 » D62 Basta kontrakt 9 473 Basta kontrakt
Syd v10 24 N =110 Vast v52 ANT V =-430 Nord v K97543 44 O =-620
Alla ¢+ EKn3 Ingen + EK972 ov + D83
#Kn109432 & ¢ v & NT #EKn9 & ¢ v & NT *Kn7 & ¢ v & NT
410643 4 EKn N7 788 4 4EK54 48 N65373 4854 4« KD1062 N4 7535
v 932 v KKn5 S77874 v7 vEKD10964 S 5 5 3 7 3 vDKn8 vE106 S476 35
*7 ¢KD10852 O 6 6 5 5 7 ¢ Kn864 ¢ D105 0789 6 10 + K7 ¢ Kn95 09 6 7 108
#EKD85 #76 V66557 #K865 &D4 V7896 10 #EK1093 485 V967297
4 D752 4 Kn10973 « EKn9
v ED8764 v Kn83 v2
¢ 964 +3 + E10642
»- #10732 «D642
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
1 201 3#V-3 T 300 21.0 -21.0(102 302 4v O-1 ¢3 50 16.0 -16.0 1 201 2vS= A 110 24.0 -24.0
101 301 3¢ O-2 v6 200 11.0 -11.0 1201 3»O= 3 -140 -40 40 2 202 2NV-1 +3 100 24.0 -24.0
2 202 2vS-1  ¢7 -100 -16.0 16.0(101 301 3v O= ¢3 -140 -40 40(101 301 3NO= ¢2 -600 -23.0 230
102 302 3vS-1 #A -100 -16.0 16.0 2 202 3vyO+1 3 -170 -80 8.0(102 302 44 O= v2 -620 -25.0 250
10 486 Basta kontrakt 11 4 Kn4 Basta kontrakt 12 43 Basta kontrakt
Ost v KKn32 24 O =-110 Syd v Kn983 34 S =140 Vast v EK106542 34 V =-140
Alla + K107 Ingen + EK3 NS *4
#8742 & ¢ v & NT #KD86 & ¢ v & NT #9432 & ¢ v & NT
4K1074 #E53 N56545 «ED2 496 N6 7596 4D9862 41075 N6 39 34
v1084 v9765 S565 45 v1054 vKD762 S 68596 vKn7 vD S6 3934
¢E983 +42 086887 ¢ DKn75 496 065747 ¢ EKn3 ¢ KD9862 079394
#KKn #«ED96 V868287 #EKn3 #9752 V65847 #KKn6 #ED10 V7930914
& DKn92 4 K108753 » EKKn4
vED vE v 983
+ DKn65 410842 + 1075
#1053 »104 »875
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
1 201 Pass 6.0 -6.0 1 201 24 S+2 &A 170 70 -7.0|101 301 5¢ O-2 ¥3 100 12.0 -12.0
102 302 Pass 6.0 -6.0|101 301 24 S= vT 110 1.0 -1.0{102 302 44 V-1 vA 50 6.0 -6.0
2 202 INN-1 #9 -100 -6.0 6.0 2 202 INN= ¢9 90 20 20 2 202 4vy N-1 ¢K -100 -9.0 90
101 301 INN-1 #6 -100 -6.0 6.0/102 302 INV-1 #8 50 -6.0 6.0 1 201 24 V= vA -110 -9.0 90
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